| dE/dx estimator 1 | | dE/dx estimator 2 |

= " " " " " — Entries 96 03F — — — 1 Entries 96
: : : : : i---[ Mean 3.143 : Mean 2.938

Std Dev 0.6577 Std Dev 0.6134
: : : : : : : : : : : |
EETRISTREERPEES E ¥ SERPRED EREPRRE te-e---i--o Entries 136
: : : : ¢ | Mean 2.726
I i | Std Dev 0.8699

0.25

Entries 136 0.25
Mean 2.82
Std Dev 0.998

0.2

0.2

CFE 11 1

0.15

0o
: : : : : : : : : 0.1

005yt Lo 005

<0

Lo J[ """" 77 B A 1
ol +Lﬂ ------- S et 0.8

12345678910 012345678910

N

=

—=— DQM_mkFit

— DQM BDT_mkFit

TTTuTeS IO T T T T T —] CTuTeS 96

: ] : : : 5 Mean 9.115 [ : : : : | Mean 0.7812
e | P freeees freeees >+ Std Dev 3.394| 050 SR SUN e e .| Std Dev 0.9152|
e - Peeeeenns TR Peeeeens +-| Entries 136 I : : : : ¢ | Entries 136

: : : ‘| Mean 8.735 X : : : : . | Mean 0.7574
_______ feveeeeeberiiiiiiene.. b | Std Dev 3.534 04 Std Dev 0.9587

....................................................................

0.95f

0% ~10 20 30 40 50 60 70 80 0% 10 20 30 40 50 60 70 80




	Contents
	Page 1


